— 8

see separate images of this pager://farbe.li.tu-berlin.de/eed6/eed6.htm

htt;\g://farbe.li.tu-berlir;.de/eed6/eed6I0nac.)txt /.psonly vect(;r graphic VG; stgrt output

0,02

xy=0313
yy=0324
Yy=2530

Va'(FU) b(FU)

1 00061 -0.0047
2 0.00: -0.0026
300021  -0.0015
4 0001  -0.0006
5 00002 -0.0001
6 0001
7 -0.0003 0.0003
8  -0.0004 0.0005
9 -0.0006 0.0007
U 00 0.0

Va*(F,U) b*(F,U)

xy=0313
yy=0324
Yy =2530

com~onrwNR

Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9
in chromaticity diagram (a'(F,U), b'(F,U)) in chroma diagram (a*(F,U), b*(F,U)) in chromaticity diagram (a,(F,U), b,(F,U)) in chroma diagram (A%, (F,U), B*,(F,U))
,,70.2191, by=-0.0837] 2,70.2191, by=-0.0837] 3,10, b=-0.4 2,10, b=-0.4
b'(F,U) =b'(F)-b'(U) b*(F,U) =b*(F)-b*(U) b,(F,U) = by(F)~by(V) B%(F.U) =cy by (F.U) =cy [by(F)—~(U)]
=0 %=0.0, m=0,333, %:=0.0, m=0,333, n=0,34: %=0.0, n=0,341, B=1.0 %=0.0, n=0,341, B=1.0
® 002,002 & =20l 6-x) /9" 010 @ Fanl&-xnY 025,025  ay=ax(x-Xly 095 025 %R0y
o o) . b =bylz/Y 110 o b =byy[z/y]Y N by=byo B 2ly 4 . by=byq B; 21y
>0 ar =500 [a - ay] Y oy =0,01Y 0341
=x%) sty 51 v U
2 U) =y a(F,
- = - V=9
8 3 aFV) =a(F) -a(U) ‘J. a(F,U) =a*(F) - ax(U) 2R U) =2(F)-a) =cy [a(F)-a,(V)]
=. - - -0,25. 0,25 Vay(F.U) by(F.V)
-0,02 0,02 Va(Fu) b(FU) %o 0 VarF.U) b*F.U) g " 2 0.5 V A%(FU) BY(F.U)
5 . g 1 00069  -0.0047 1 -2.54 ; 8022 ,8_81; 1 0093  -0075
= 5 0% -ooos 3 s 3 g2 o § 0o ooa
o= 4 00011 -0.0006 2 -0742 F S e 4 0032 -0021
— 5 00002 -0.0001 5 -0.223 6 -0001 0002 5 0009  -0006
- 6 00 0.0001 - 6 0.209 - ~ - 4 6 -0003 0.006
§ 8 xy=0313 7 -0.0003 00003 ||*u=0313 7 0585 xy=0313 oo oes xy =0313 7 -0016 0016
- 8 -0.0005 0.0005 - 8 5 = = - 8 -0028 00
D yy=0324 9 00007 00007 ||Yu=0324 9 1'508 Yy =0324 o oyt Sou yy =0324 9 -0041 0.046
o Yy =25.30 v Yy =25.30 v Yy =25.30 Yy =25.30 u oo o.
— o
6 - ‘eed60-1a eed60-2a eedbl-1a eedb1-2a
—+
> = Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9
= m in chromaticity diagram (a'(F,U), b'(F,U)) a,=0.2191, b=-0.0837 in chroma diagram (a*(F,U), b*(F,U)) a,=0.2101, by =-0.0837 in chromaticity diagram (a,(F,U), b,(F,U)) 1.0, by=-0.4 in chroma diagram (A*, (F,U), B*,(F,U)) 1.0, by =-0.4
= bI(F.U) = b(F)-bi(U) 2r0-213% b0 B(E) =bi(F) (V) 2702191, Bigm-0. bF.U) = b,(F)-b,(U) 2L 0, 0. BH(RU) = ¢ by(F.U) =0y [by(P)-(U)] 20, 0.
— E %.=0.0, m=0,333, n=0,34: %:=0.0, m=0,333, n=0,34: %=0.0, n=0,341, B=0.8 %=0.0, n=0,341, B=0.8
e 002,002 & Z¥0lx=0) 1] v a=agl(x- E)/y]“ 025,025  ag=ay0-x)ly 025 025 A R00RY
= T b=byglziy] b = by 2]y 0,25 . b,=by B, 2/ ' b,=by, B, 2/
~— . 20 E 20121y 2700 B 2y . 2=D20 Be 2ly
Q % a*=500[a - a\y] Y" cy =0,91Y 0341
b* =500 [b' - byl Y"
U A%(F,U) =cy ay(F,U)
o - » 2! Y &2
o % a(FY) =a(F) -a(U) 'Q @(FU) =a(F) - (V) 3 2FU) =R al) ‘< =cy [3(F)-2U)]
== 0,02 0,02 Va(Fu) b(FU) o 0 Var(FU) b(FU) 025 025 VaFd) bfF.0) 35 % 25 V A%(FU) BYF.U)
- 100069 -0.0047 1 3702 -254 ~ 10093  -006
—t a‘ 200038 -00026 2 285  -195 2 0he oon 2 007 -0045
C 300023 -0.0015 3 2217 -1423 4 0015  -0.008 3 0055  -0033
e} 4 00011  -0.0006 4 1293 -0742 5 0003  -0002 4 0032  -0017
o< 5 00002 -0.0001 5 0392 -0223 -0,25 6 -0.001 0.001 5 0009  -0005
= xy=0313 S %Qooos o008 || =081 S ose ok xy=0313 ' 5o Dooe xy =0313 5 0% 0oh
RF|w-oem § g oo || -om ) oA i [0 e o
p— 2 Yy =25.30 v Yy =25.30 u oo Yy =25.30 Yy =25.30 u oo o.
% M 5ed60-3n Sed61-an
o - Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9
— in chromaticity diagram (a'(F,U), b'(F,U)) in chroma diagram (a*(F,U), b*(F,U)) in chromaticity diagram (a, (F,U), b, (F,U)) in chroma diagram (A*,(F,U), B*,(F,U))
a'55=0.2191, b,=-0.0837 a'5;=0.2191, b,;=-0.0837| ~1.0, b=-0.4 71.0, by=-0.4
; < b(F.U) =b(F)-b(U) o Obgg's oal PEV=PEDO o 0";23 03 Ba(F.U) = by(F)-by(U) o %; aa, prof | B2EV T b(FV) =0y 10V G %; 341, B10
%:=0.11, m=0,333, n=0, %:=0.11, m=0,333, n=0, %=0.11, n=0,341, . x:=0.11, n=0,341, .
= o Dok 002 & =l =) u a=al (x - ﬁ‘)/y]U ] Q25,025  ag=any0exly Ay (Y
p —_— . b'=byo[z/y] b'=byl2/y] 7025 ° by=byo Be 2ly by=byq Be 2y
= 5 . a*=500[a - ay] Y cy =0,91Y0341
b1 yn
o b* =500 [b' - byl Y AFU) =
4(F,U) = oy ay(F,U)
Q % al(F.U) =a(F) ~a(U) @ (FU) =2 (F) - V) 2V =20 -2(0) = ¢y [aF)-aV)]
91 0,02 Va(Fu) b(FU) Va'(F.U) bF.U) -0.25 025 N aganv;) bzg';;i Z V A(F.U) BF V)
- 1 00061 -0.0047 1 -2.54 2 0035  -0042 1 0062 -0075
—_ 200034 -0.0026 2 -1.95 3 0022 -0023 2 004 -0.056
. 300021 -0.0015 3 -1.423 4 1 -00 3 0038  -0041
—~ N 4 0001 -0.0006 4 -0.742 5 0002 -0002 4 0022 -0.021
c ! 5 00002 -0.0001 5 -0.223 +-0,25 6 0.002 5 0006  -0.006
= e S % 0 [ x=0a ; Per e | KT 7ose oo
== S P 3ot 86k | -0 : i G | P P oS oo
Q Yy =25.30 u oo 0.0 Yy =25.30 v 0.0 Yy =25.30 Yy =25.30 u oo 0.0
. e060-50 ey ey ey
_: Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9
Q in chromaticity diagram (a'(F,U), b'(F,U)) ', 20.2191, b =-0.0837 in chroma diagram (a*(F,U), b*(F,U)) & =0.2191, b=~0.0831 in chromaticity diagram (a, (F,U), b, (F,U)) 1.0, bye-0.4 in chroma diagram (A*,(F,U), B*,(F,U)) 210, b,2-04
[p) b'(F.U) =b'(F)-b'(V) 2602191, bjg=-0. b*(F.,U) =b*(F)-b*(U) 26702191, Bi=-0. b,(F,U) = by(F)-by(U) ay0=1.0, Byg=-0- B%(F.U) = ¢y by(F.U) = ¢y [by(F)~(U)] 25710, Bg=-0.
x:=0.11, m=0,333, n=0,3: %:=0.11, m=0,333, n=0,3 %=0.11, n=0,341, B0.8 X=0.11, n=0,341, B=0.8
002 002 & =a20[K-x)/Y] v a =aj[ (x— ><‘.)Iy]U 0,25,0,25  ay=agy (x-X)ly 0.25,0.25 ap=agy (XX Iy
N — U U U =+ 0,2 . i . - |
. b'=by[2/y] b'=byl2/y] - by=byo Bo 2ly . by=byo B, 2ly
a*=500[a - ay] Y oy =0,91Y0341
b* =500 [b' - b'y] Y"
b= Bl AFL) =0y 2,FU)
al(F.U) =a(F) ~a(U) @ (FU) =2 (F) - V) 2V =20 -2(0) = ¢y [aF)-ayV)]
0,25, Vay(F,U) by(F,U)

0. 0,25 V A%(F,U) BY(F,U)

Gea60-7a

Tea00-5a

| eed60-7n

1 0064 -0062
f if 1o L ope
3 002 -0019 . -
4 001 -0008 3 0038  -0033
02 5 0002 -0002 4 o0z ooy
T-025 6 00 0.001 =
xy=0313 7 -0.003  0.004 ,25 6 -0.001  0.004
8 -0004 0006 7 ool ool3
= 9 -0006 0009 - :
Yy= 082 U 00 00 9 -0024 0036
Yy=2530 Yy=2530 U 00 00
EEEn e
eed6l-7n

TUB-test chart eed@viunsell (RenotationChromaC = 2 and Value (lightnesyj=11to 9

in chromaticity and chroma diagranxg;= 0,00 or 0,11B¢ = 1,0 or 0,8, normalization U
C M Y (0] L

JO JUBWAINSEaW pue uonen|eAs Joj uonesldde

uonensibal gnl

/ ¥X1"euQ|9p=a9/9pas-TOTTECOL

g).

indino juud 1o Aejds

S

[euarew gn.L

=9pP09J

|




